
CS444 Linear Algebra Exercises

1. Assuming that

B =

[
1 2 −3
3 4 −1

]
, A =

 2 −5 1
1 4 5
2 −1 6

, y =

 2
−4
1

, z =

 −15
−8
−22


calculate each of the following by hand:

• BA

• ABT

• Ay

• yT z (This is the inner product, or dot product, of y and z.)

• yzT (This is the outer product of y and z.)
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2. Given that A =

[
1 2
3 0

]
, and b =

[
4
6

]

• Find A−1. (Hint: let B =

[
a b
c d

]
and solve AB = I for a, b, c and d.)

Check your answer by computing AA−1.

• Use A−1 to solve Ax = b for x.

Check your answer by computing Ax.
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